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Background

From ECE-TRANS-WP.29-GRB-2018-02, GRB adopted the proposals, as
contained in Annex Il of ECE/TRANS/WP.29/GRB/65 (Report of the
Working Party on Noise on its sixty-seventh session).

Adopted proposal

Ol’lgl nal proposal Applicable only to Pure Electric Vehicle (PEV)
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IWG for ASEP proposes to work on OICA proposal to extend partial throttle
to all vehicles



Objectives

1) Understanding of formulas.

2) Comparison of results from direct and indirect
methods :

. L urban
ii.  ASEP.

3) Additional descriptions to apply partial throttle
testing.



ASEP anchor point parameter

Direct urban :
1) anchor — (Ltest - K *Lcrs) / (1 Kk )

) kP =1- atest/awot,ref
3) Nanchor = nbb,test *3.6 / Vbb,test ( test*(zo-l_z*Iveh)-l-l92 9)

-
Formulas to be clarify for
anchor point

Combined wot and crs :

1) Lurpan = Lwot rep kp X (Lot rep Les rep))

2) kp =1-(a ypan / a wot test)

3) Ayot test = ((Vag/3.6)? - (Van/3.6)%)/(2%(20+1))




Example vehicle 1 (EV)
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Example vehicle 2 (diesel)
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Example vehicle 2 (diesel)
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Example vehicle 3 (Gasoline)
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Example vehicle 3 (Gasoline)
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Proposal for amendement

AA-BB or PP-BB ?
Pre-acceleration ?

3.1.2.1.4.3. Vehicles tested on partial throttle
The gear selector position for full automatic operation shall be used.
The acceleration value a;.. s, Shall be calculated as defined in paragraph 3.1.2.1.2.2.

The test may then include a gear change to a lower range and a higher acceleration. A
gear change to a higher range and a lower acceleration is not allowed.

A gear shifting to a gear ratio which is not used in urban traffic shall be avoided.

The achieved acceleration ag, ... . test shall be greater or equal to a and lower or

equal than a

urban

wot ref.
The intermediate results according to 3.1.3, L jyect urp 1S then used as the final result
instead of the calculation using partial power factor k, (see paragraph 3.1.3.1.).

3.1.3.1. Vehicles of categories M1, N1 and M2 < 3,500 kg technically permissible
maximum laden mass

[..]
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Conclusions

* L urban measured directly on partial throttle provides similar
result than L urban

* Anchor point deduced from direct measurement of L urban
provides deviation compared to current procedure.

* Additional work would be necessary for application of L urban
measured directly on partial throttle



